
Multiplication et Division (B)Calculez chaque produit ou quotient.14 · 6 = 15 · 10 = 1 · 9 = 6 · 5 =12 · 15 = 10 · 11 = 14 : 2 = 77 : 7 =3 · 3 = 7 · 2 = 165 : 15 = 7 · 11 =6 · 1 = 84 : 14 = 52 : 4 = 195 : 15 =32 : 8 = 15 · 11 = 8 · 15 = 45 : 15 =11 · 3 = 35 : 7 = 4 · 2 = 84 : 7 =8 · 10 = 60 : 10 = 5 · 15 = 30 : 10 =2 · 9 = 169 : 13 = 2 · 2 = 24 : 3 =8 · 9 = 99 : 9 = 6 : 3 = 91 : 7 =11 · 6 = 13 · 6 = 26 : 2 = 84 : 14 =15 · 13 = 27 : 3 = 4 : 1 = 2 · 7 =42 : 3 = 15 · 1 = 35 : 5 = 12 : 12 =35 : 7 = 48 : 6 = 90 : 6 = 24 : 4 =2 · 8 = 4 · 3 = 33 : 3 = 2 · 6 =24 : 4 = 13 · 1 = 40 : 8 = 2 · 10 =144 : 12 = 132 : 11 = 5 · 5 = 104 : 8 =143 : 11 = 36 : 6 = 52 : 4 = 65 : 13 =14 · 9 = 3 · 4 = 6 : 2 = 15 · 11 =2 · 9 = 8 · 6 = 9 · 1 = 10 · 3 =210 : 14 = 88 : 8 = 18 : 2 = 24 : 4 =15 · 10 = 70 : 5 = 7 · 11 = 45 : 15 =6 · 3 = 9 · 7 = 117 : 13 = 14 · 14 =77 : 11 = 28 : 14 = 7 · 4 = 39 : 3 =15 · 9 = 1 · 7 = 24 : 2 = 135 : 9 =80 : 10 = 169 : 13 = 28 : 4 = 150 : 15 =Mathslibres.com



Multiplication et Division (B) RéponsesCalculez chaque produit ou quotient.14 · 6 = 84 15 · 10 = 150 1 · 9 = 9 6 · 5 = 3012 · 15 = 180 10 · 11 = 110 14 : 2 = 7 77 : 7 = 113 · 3 = 9 7 · 2 = 14 165 : 15 = 11 7 · 11 = 776 · 1 = 6 84 : 14 = 6 52 : 4 = 13 195 : 15 = 1332 : 8 = 4 15 · 11 = 165 8 · 15 = 120 45 : 15 = 311 · 3 = 33 35 : 7 = 5 4 · 2 = 8 84 : 7 = 128 · 10 = 80 60 : 10 = 6 5 · 15 = 75 30 : 10 = 32 · 9 = 18 169 : 13 = 13 2 · 2 = 4 24 : 3 = 88 · 9 = 72 99 : 9 = 11 6 : 3 = 2 91 : 7 = 1311 · 6 = 66 13 · 6 = 78 26 : 2 = 13 84 : 14 = 615 · 13 = 195 27 : 3 = 9 4 : 1 = 4 2 · 7 = 1442 : 3 = 14 15 · 1 = 15 35 : 5 = 7 12 : 12 = 135 : 7 = 5 48 : 6 = 8 90 : 6 = 15 24 : 4 = 62 · 8 = 16 4 · 3 = 12 33 : 3 = 11 2 · 6 = 1224 : 4 = 6 13 · 1 = 13 40 : 8 = 5 2 · 10 = 20144 : 12 = 12 132 : 11 = 12 5 · 5 = 25 104 : 8 = 13143 : 11 = 13 36 : 6 = 6 52 : 4 = 13 65 : 13 = 514 · 9 = 126 3 · 4 = 12 6 : 2 = 3 15 · 11 = 1652 · 9 = 18 8 · 6 = 48 9 · 1 = 9 10 · 3 = 30210 : 14 = 15 88 : 8 = 11 18 : 2 = 9 24 : 4 = 615 · 10 = 150 70 : 5 = 14 7 · 11 = 77 45 : 15 = 36 · 3 = 18 9 · 7 = 63 117 : 13 = 9 14 · 14 = 19677 : 11 = 7 28 : 14 = 2 7 · 4 = 28 39 : 3 = 1315 · 9 = 135 1 · 7 = 7 24 : 2 = 12 135 : 9 = 1580 : 10 = 8 169 : 13 = 13 28 : 4 = 7 150 : 15 = 10Mathslibres.com


